
i. 5
0 

e.
 50

 

i. 
54

,2

 370 

Big silencer nero Øi.50
Cod.3014000471
Allen screw 
M8x90 Cod.200925 

Alluminium spacer
- for allen screw M8 -
Cod.204321

Plain washer Ø8 x Ø24
Cod.200931

Strap in stainless steel Ø57
Cod.300057530

Alluminium spacer 
41x27x20 F8.5
cod. 206391

Pipe n° 1138
cod. 3014047201

knurled collar nut H8 Z.B.
cod.200298
Alluminium bracket 
a "L" Ø27 
cod. 206305
TO USE WITH ORIGINAL
SIDE BAGS

Collar screw M8X50
Cod.200304  
TO USE WITH ORIGINAL
SIDE BAGS

Allen screw 
M8x20 Cod.200722 

ART. 14012

SUZUKI V-STROM 1000 ABS 

SLIP-ON - NERO - STAINLESS S. - APPROVED 

A  FITTING KIT COD.3014012601

Remove original bushing 

Short helical 
spring tensile
cod. 303949001

SGI e13  0230  9

 110 
 1

25
 dB-killer n.32B

Cod.307762801


	DT-14012
	Vista del disegno3
	Vista del disegno5


